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QUESTION 1

Which usage rule would be used to retrieve scalar measurements and convert the total from one unit of measure to
another?

A. Get Scalar Details and Math

B. Get Scalar Details and Apply Formula

C. A custom set of usage rules must be written.
D. Get Scalar Details and Axis Conversion
Correct Answer: D

Reference: https://docs.oracle.com/cd/E18729 01/pdf/E18187_01.pdf

QUESTION 2

Which relationship must be established with an external system or a service provider before creating bill determinants?
A. Usage Transaction

B. Usage Rule

C. Usage Subscription

D. Usage Factor

Correct Answer: C

Reference: https://docs.oracle.com/cd/E41155_03/library/CCB-MDM_Implementation_Guide_v12.1.pdf

QUESTION 3

How many bill segment-related financial transactions do pay plans have?

A. depends on the number of payments that is part of the pay plan

B. one

C. depends on the number of bills that will contain the customer\\'s pay plan commitments
D. none

E. unlimited

Correct Answer: C

170-996-21 PDF Dumps | 120-996-21 VCE Dumps | 1Z0-996-21 Study Guide 2/3


https://www.passapply.com/1z0-996-21.html
https://www.passapply.com/1z0-996-21.html
https://www.passapply.com/1z0-996-21.html

VCE & PDF https://lwww.passapply.com/1z0-996-21.html
2024 Latest passapply 120-996-21 PDF and VCE dumps Download
PassApply.com

QUESTION 4

Which four statements correctly describe what a Service Agreement Type controls? (Choose four.)
A. It controls the Late Payment Charge Calculation Method.

B. It controls the Service Type to be billed.

C. It controls the valid Rates that can be applied to the service agreement type.

D. It controls debt age.

E. It controls where the bill is to be sent.

Correct Answer: ABCD

QUESTION 5

You are configuring a VEE group to include rules to be executed when loading the initial measurement data (IMD).
What is the VEE group directly associated with?

A. Device Type and Measuring Component Type

B. Measuring Component Type

C. Device Type

D. Usage Type

E. Device Configuration Type

Correct Answer: E

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf (151 152)
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